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2 Code

%% Simple Life Cycle Consumption Model with Uncertainty
%

% 0000000040 Backward Induction O O O

% 00000000 CRRA

% W(t+1)=R*W(t) + Y(t) -C(t)
%oooooooooooooo

% 20100 100

%0000

clear all

tic

%% Set Parameter Values

gamma=3; % 000000

beta=0.97; % 0000

R=1.01; % 00 (1/beta00000D000)
maxage=60; % 0000

retire_age=40;% 0000 (00000000 OD0OOOOO)
%% 000000000

max w=100;% 000000

min.w=0;% 000000 (D000)

incw=0.1;% 00000

n= round((max_w-min_w)/inc.w+1); % # 00000
% 000000

for i=1:n

w(i,1)=min_w+inc_w*(i-1);

end

%

%% 0000 %%%%%%%%%% %% % %% %% %% % %%
shockvalue=zeros(1,2); % 000000
shockvalue(1)=0.7; % 000000
shockvalue(2)=1.3; % 000000

%

%0000

trprob=[ 0.9 0.1; 0.1 0.9 |;

% 00000000400

Earning=ones(maxage,1); % 000000
gyoung=1.07; % 000000000000

for k=1:maxage

if k<=retire_age
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Earning(k)=1+1*g_young~ (k-1);

elseif k>retire_age
Earning(k)=0.7*Earning(retire_age);

end

end

%

%% 000 %%%%%%%%%%%% %% %%%
VL_age=zeros(n,maxage);% 00000000
VH_age=zeros(n,maxage);
Util=-10000000000000000000*ones(n,n);% 0000000000
Cons=zeros(n,n);

policy_l_age=zeros(n,maxage);% 00 O Policy 00O OO0
policy_h_age=zeros(n,maxage);

policy 1=zeros(n,1);

policy_h=zeros(n,1);

%% 0000 %%%%%%%%%%% % %% % %%

%

for i=1:n

for j=1:mn

Cons(i,j)=R*w(i)+Earning(maxage);

if Cons(i,j)>0.0
Util(i,j)=(Cons(i,j) " (1-gamma)) /(1-gamma);

end

end

end

%

% 0000000000000

for i=1n

VL1(1,i)=Util(i,1);

VH1(1,i)=Util(i,1);

policy 1 age(i,maxage)=R*w(i)+Earning(maxage);
policy_h_age(i,maxage)=R*w(i)+Earning(maxage);
end

%

VL _age(:,maxage)=VL1’;
VH_age(:,maxage)=VHI’;

%

%% Main Loop: Backward Induction %%%%%% %

for k=2:maxage
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%k=10000 PolicyOOOOOOO
Cl=zeros(n,n);

Ch=zeros(n,n);

Ul = -10000000000000000000*ones(n,n);

Uh = -10000000000000000000*ones(n,n);

for i=1n

for j=1n

invretire=maxage-retire_age;

invage=maxage-k+1; % 00000

if k<=invretire % 0 0 O
%00000000000000000
Cons(i,j)=R*w(i)+Earning(invage)-w(j);

if Cons(i,j)>0.0
Ul(i,j)=(Cons(i,j) " (1-gamma)) /(1-gamma);
Uh(i,)=Ul(1j);%

end

end

if k>invretire % 0 0O O
Cl(i,j)=R*w(i)+Earning(invage)*shockvalue(1)-w(j);
Ch(i,j)=R*w(i)+Earning(invage)*shockvalue(2)-w(j);
if Cl(1,j)>0

Ul(1,j)=(C1(i,j) " (1-gamma)) /(1-gamma); %

end

if Ch(i,j)>0

Uh(i,j)=(Ch(i,j)" (1-gamma))/(1-gamma); %

end

end

end

end

%00000000000000

for s=1:n

[VLO(s,1) pl(s)]=max(Ul(s,:)+beta*(trprob(1,1)*VL1+trprob(1,2)*VHI1));
[VHO(s,1) ph(s)|=max(Uh(s,:)+beta*(trprob(2,1)*VL1+trprob(2,2)*VH1));
end

VL1=VLO’;

VHI1=VHO’:

VL_age(:,invage)=VL0;

VH_age(:,invage)=VHO;

% Policy functions 0 O O
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if invage<=retire_age % 0 O O

policy 1(:)=R*w(:)+Earning(invage)*shockvalue(1)- w(pl(:));
policy_h(:)=R*w(:)+Earning(invage)*shockvalue(2)- w(ph(:));
elseif invage>retire_age % 0 0 O
policy_h(:)=R*w(:)+Earning(invage)- w(ph(:));

policy 1(:)=R*w(:)+Earning(invage)- w(pl(:));

end

policy_l_age(:,invage)= policy_l;

policy_h_age(:,invage)= policy_h;

end

%9%0% % % %% %% % %0 %o %0 %% %0 %o %o o %0 %0 %0 %o Fo o %0 %0 %o Yo Yo 0 %% %0 %o %o Yo
%% Life Cycle Simulation

%

simnum=>5000;% 0 0 0O

sigma=0.5:% 00000000000

mhu =0.1;% 0000000000

cons_sim=zeros(simnum, maxage);% 00000000000
next_wealth=zeros(simnum, maxage);% 0 0 0
incomedist=zeros(simnum, maxage);% 0 0O O
wealth=zeros(1,simnum);

wealth2_1=zeros(1,simnum);

%o

% 000000000

for i=1:simnum
wealth(i)=round((((randn(1)4+mhu)*sigma)-min_w)/inc_-w+1);
% Note that the grid number: n=1+(wealth-min_w)/inc_w
if wealth(i)<1

wealth(i)=1;

elseif wealth>n

wealth(i)=n;

end

end

%

wealth2=sort(wealth);

%

%0000000000000000000000O0

%

lengthpro=length(trprob);
P=(1/lengthpro)*ones(1,lengthpro);
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for i=1:100

P=P*trprob;

end

incomestate=mnrnd(1,P,simnum);% 000000000
%

% 00000000

for i=1:simnum

for k=1:maxage

asset=wealth2(i);

if k<=retire_age

income_now=incomestate(i,:);

nextshock=mnrnd(1, trprob,2);% 0000000

if income_now(1,1)==1;
cons_sim(i,k)=policy_l_age(asset k);
next_wealth(i,k)=R*w(asset)+Earning(k)*shockvalue(1)-cons_sim(i,k);
incomedist(i,k)=Earning(k)*shockvalue(1);
incomestate(i,:)=nextshock(1,:);

elseif income_now(1,2)==1
cons_sim(i,k)=policy_h_age(asset,k);
next_wealth(i,k)=R*w(asset)+Earning(k)*shockvalue(2)-cons_sim(i,k);
incomedist(i,k)=FEarning(k)*shockvalue(2);
incomestate(i,:)=nextshock(2,:);

end

elseif k>retire_age

cons_sim(i,k)=policy_h_age(asset k);
next_wealth(i,k)=R*w(asset)+Earning(k)-cons_sim(i,k);
incomedist(i,k)=Earning(k);

end
wealth2_1(i)=round(((next_wealth(i,k))-min_w)/inc_w)+1;
if wealth2_1(i)<1

wealth2_1(i)=1;

elseif wealth2_1(i)>n

wealth2_1(i)=n;

end

wealth2(i)=wealth2_1(i);

end

end

%O000ooooo

teststat=zeros(maxage,6);
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for k=1:maxage

teststat (k,1)=var(log(cons_sim(:,k)));
teststat(k,2)=mean(cons_sim(:,k));
teststat (k,3)=var(log(incomedist(:,k)));
teststat(k,4)=mean(incomedist(:,k));
teststat (k,5)=var(next_wealth(: k));
teststat (k,6)=mean (next_wealth(:,k));
end

%

%% Plot

%o

axe=zeros(maxage,1);

for i=1:maxage

axe(i)=i+20;

end

%

figure

plot( axe,teststat(:,2),’k’, 'LineWidth’,2 );
hold on

plot( axe,teststat(:,4),-kx’ );
plot(axe,teststat(:,6),-ko’,’"MarkerSize’,3 );
title(’Consumption, Earning, and Wealth Profiles’);xlabel(’age’);
legend(’ 00,00, 007,2);

hold off

%

toc
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